mE  YM4X  AE = mE YM4X A 7E fif

En (BFE) [EHH) Jyh— NEHRE (BHh) [ERH)
810 | /i 280,000 T-S 142,000
811 ] 532,000 mo] A 128,000
7|\
T * S 1%H 4 ’
821 * 1140000 | 32 [T-s 200,000
128 | % 2%
30 831 | BA 1,460,000 M 182,000
e JAN =K Ul .
BiEh () (B8R TS| a8 | ex 315,000
812 A 532,000 M 290,000
T.-5 [ 822 * 148 1,140,000 Jyh— BRANEE (L$h) [ERs)
832 | BA 1,460,000 TS | e N 126,000
Jyh— (h#h) [EHE) M 115,000
TS| oo | o 67,000 TS | o N ” 182,000
M 54,000 M 170,000
: T- 2
TS| .00 N 74,000 S| 4oz | on 90,000
M ” 60,000 M 260,000
TS| o N 120,000 s (FEE#H) [(EHN)
M 115,000 T-S 142,000
T-5S 235,000 m | Aot o 126,000
430 | w5k ’ ’
M 220000 | 33 [T-s| , ~ ” 200,000
Jyh— &t uh) [(EH®) M 182,000
. . 1
TS| o5 | on 70,000 TS| s | sx 315,000
M 58,000 M 290,000
SR N 80,000 Jyh— BRANEE (B8) [ERs)
s 2 —a7000 e et Te000
| P A 115.000 T-5 182,000
T-5 230,000 w42 A 27 170,000
435 | w5k ’ ,
M 230,000 TS| oo | ex 290,000
AE € M ‘ 260,000
6-576 | 1<r5% 76,000 BEY (AR) [EFER)
- [ew [ 2y ” 85,000 911 m 75,000
6-578 | 2-15% 94,000 T-5 [ 921 T 1ty 120,000
6579 | 3+ 99,100 931 * 225,000
Jyvh— (B#) [EHRR) fB£t (BEY) [EHFH
TS | o _ ) 127,000 |, 913 | /i 75,000
M 120,000 T-5 | 923 0 1t 120,000
Jyh— NESBE Ghih) [E&s) 933 | X 225,000
TS| e | o 142,000 Bet (DR [Ema
M 128,000 014 | /i 75,000
) T-S 4
TS| 0o |« ) 200,000 924 1 # 120,000
M 182,000 931 | X 225,000
TS| 426 | rx 315,000
L [ 290,000
h— NEHEE EEH) [ERH)
TS| ... N 155,000
M 140,000
TS| . N ) 220,000
M 190,000
T-5 350,000
437 | w5k 2
M & 315,000




mE  YM4X  AE

fEEY (AWR) [EHEiHH]
941 2N 148 350,000
T-S | 951 a3 650,000
(415)
961 X 990,000
B (BWE) [EHEi&H]
943 N 148 350,000
T-S | 953 t 650,000
(415)
963 X 990,000
fEeY (DWE) [HEiHH]
944 /N 148 350,000
T-S | 954 H (44) 650,000
3435 964 X 990,000
fEEY (AWLE) [ER$E]
971 /N 148 650,000
T-S | 981 a3 1,150,000
(415)
991 X 1,450,000
fEEY (BWLE) [H&R#]
973 N 148 650,000
T-S | 983 f 1,150,000
(41%)
993 X 1,450,000
fEEY (DWLE) [HEHRH]
974 /N 148 650,000
T-S | 984 H 1,150,000
(41%)
994 X 1,450,000




